=
20229 = 20l & L EHSH|
SA BT
& 200 Al2l4l
o210 AN ALY
8 : 216 0|+ (69 @2
SN2 Ol &k 24 &1 0l ot o Bl =2t
ES Al 3,151,756 3,823,451 A671,695
Egan. 3,151,756 3,823,451 AB71,695
200 Mel=+=¢ 58,150 0 58,150
210 BTN == 150 150
216 Ol Ah==& 150 0 150
216-03 J| E+OI Xt ==& 150 0 150
OJIEH Ol At (L&Al 0l XH) 150
220 YAEAN 2+ 1,000 1,000
224 J|Et==¢& 1,000 0 1,000
224-07 12+ 1,000 0 1,000
o= 1,000
230 NILYSEHMM - 2= 57,000 0 57,000
231 &= 15,000 0 15,000
231-01 &= 15,000 0 15,000
OBLII(B4E MY AP = 15,000
234 DtEHE 42,000 0 42,000
234-02 JIELULEH = 42,000 0 42,000
OJIE BEE+A(SME AMpelY L HSHAoYY
gt 8) 42,000
500 Ex = 3,093,606 3,823,451 AT29,845
510 = DEx3S 1,880,323 2,337,961 A 457,638
511 3 18X=3S 1,880,323 2,337,961 A 457,638
511-01 212 x3 887,004 1,699,856 A 812,852
o220l =43 M 30,000
Og=is LM AL 5,000
ORIISE YUY N 1,500
OJtzgoorE a1 188,916
OYXNA2d Z& T XA 12,000
OFgs PR W 132,405
OAL27E2sIt 2HE gl 76,449
ORHS HSEE A=A 2A3A 25,018
O4 2HS HYHE Azl 37,500
ORMS HYEE T3 HEASH (22) 10,000
OA ERdctgEZHE MHELSFHI 29,100
OSHZ2 29 ¥ ASHg N 97,500
ON=seHdEs B3N 200,000
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SN D
& 500 Ex3
= 520 Al - SHIEEX=S
& 521 Al-GHIBESS (el &2
SN-F-B-E-2 0l &t o 0 ot o HZE2
Osnes IANY 24,000
OHACCP S¢ts0F & SEE XA 1,800
OS M2 HACCP &S XIR AL 720
ONeg WEXZ XA 2,250
OSNMSBHAL AMALHE XA 4,000
OMII olsE=HH A 9,828
OBdE s42 T X AL 2,400
OSNE +52T NAMY 9,600
O+M2 IZTBE AUES NAAL 9,000
OSSR e YFAY 101,250
OU%0l =2016(012) DA XA AL 18,270
OGAIYQ BT K& AL 78
Oolel HHBH 2H2 XA 1,264
OwelS2 S=HIE NaA 5,300
OO ZH& XA 7,000
ONASHS 2SS SSHl AL 6,000
O SMAFME MG 180,000
OUHE KB KA 720
OYBBIAE 7 XAAL 19,500
ONZ £SZH X 1,500




——
N = 0] &F AF S & AN A
EXN: Fat
a4 B L
e JIEs AIEIIBE =4 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= A 7,655,609 8,214,400 A B5K8,791
= 887,004
Jl 993,319
& 1,213,283
Al 4,562,003
o B LG 7,578,171 8,169,756 A 591,585
= 887,004
J| 993,319
& 1,213,283
Al 4,484,565
IIE AIFIIBE 24 23t 3,743,633 3,695,817 47,816
= 5,000
J| 726,195
o= 595,086
Al 2,417,352
S AFONA AL 1,200,000 0 1,200,000
J| 600,000
o= 180,000
Al 420,000
402 SI2tXHE0| ™ 1,200,000 0 1,200,000
J| 600,000
= 180,000
Al 420,000
02 QIZEXIEAISE X (0| XM THSH) 1,200,000 0 1,200,000
OEAMAFOHSLALS 1,200,000
J| 600,000
& 180,000
Al 420,000
=L MY AEH 168,750 168,750 0
J| 84,375
o=t 25,312
Al 59,063
307 2iz2to| & 168,750 168,750 0
J| 84,375
= 25,312
Al 59,063
02 QIZIA AAIE E X 168,750 168,750 0
OJ=EE5 HHAZEH XA
250,000& = 675ha 168,750
J| 84,375
& 25,312
Al 59,063
IEESR AF M2 AIEEH XSAS 15,000 104,200 A 89,200
& 3,000
Al 12,000
402 QI2H X201 M 15,000 104,200 A 89,200
== 3,000
Al 12,000




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 15,000 104,200 A 89,200
ON=EEn AFHNMZ AMLEH XH 15,000
= 3,000
Al 12,000
SSNHSAE dFHHM2ZH 2L XA 110,000 100,000 10,000
206 M= Hl 110,000 100,000 10,000
01 MHZ 4l 110,000 100,000 10,000
OZSAASAE AdFHNZH 2 XA
5,000 =* 22,000kg 110,000
IIE2s 45 M2 DIMEMM(FE) 51,000 51,000 0
307 glz2tol & 51,000 51,000 0
02 QIZtE M AHE X 51,000 51,000 0
OJN=En AFHNMZ NMHSHM XA AS
5,000& = 17,000kg * 60% 51,000
H=EZ ElHIA™El JIHEH XIS AS 41,400 60,000 A 18,600
= 15,000
Al 26,400
402 BI2FX=0| M 41,400 60,000 A 18,600
< 15,000
Al 26,400
02 QIZEHEASEZ (01X E) 41,400 60,000 A 18,600
OJI=& EdI el JNHEE XA 41,400
= 15,000
Al 26,400
4=t 2= 2EXd 108,000 108,000 0
402 RIZEX20l ™ 108,000 108,000 0
01 U2 EAILE X (KA R) 108,000 108,000 0
O=dsI 2 28 N (AIEZH)
27,000,000& * 10CH * 40% 108,000
LESI 2o dHMZM XNSAS 75,000 75,000 0
307 glz2tol & 75,000 75,000 0
02 It M AHE X 75,000 75,000 0
OLESI 2 AdHMZH XA
5,000& = 30,000kg * 50% 75,000
S4sIE AHER HE A 250,000 245,000 5,000
S 50,000
Al 200,000
301 LEHZ 250,000 245,000 5,000
< 50,000
Al 200,000
12JEEd= 250,000 245,000 5,000
OF&tsot FEX HEAS (X, Ot=-0l
MET ) 5,000& = 100,000kg * 50% 250,000

-2 -




SN M
a4 AW L
el ObE ALSOIY Z4 st (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 50,000
Al 200,000
=2 =222 NI MY 350,000 395,000 A 45,000
< 80,000
Al 270,000
301 LEMZ 350,000 395,000 A 45,000
< 80,000
Al 270,000
12243 350,000 395,000 A 45,000
ONEEr =222 XA 350,000
< 80,000
Al 270,000
xE YA 2o N2 170,000 170,000 0
307 glz2tol & 170,000 170,000 0
02 It M AMHEE 170,000 170,000 0
09458 2 MY
400,000& * 1,700 = 25% 170,000
SAMAE SEHE ALY 20,000 18,000 2,000
< 4,000
Al 16,000
402 RI2EX=20l A 20,000 18,000 2,000
< 4,000
Al 16,000
02 QI 2 AL EZ (01 XS ) 20,000 18,000 2,000
OSFAtAIE 2Z3oH& XI& 40,000,000 * 50% 20,000
= 4,000
Al 16,000
HAS Melol X3 45,000 45,000 0
< 9,000
Al 36,000
402 RI2EXt20l ™ 45,000 45,000 0
< 9,000
Al 36,000
02 RIZE X2 AL EZ (01X TS ) 45,000 0 45,000
OHAM= XM2l2l XA
30,000,000& = 3CH * 50% 45,000
< 9,000
Al 36,000
F4sI ASEILH X2 ALY 51,288 38,400 12,888
< 20,400
Al 30,888
307 21201 A 51,288 38,400 12,888
< 20,400
Al 30,888
02 B AAHEX 51,288 38,400 12,888




SN BN
B 0 A 33
e JIEs AIEIIBE =4 23 (&t
(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
OFMsIH IS EIMM K& 51,288
=} 20,400
Al 30,888
=Ml 2 & 254,000 264,000 A 10,000
= 88,000
Al 166,000
301 dEtE M= 254,000 264,000 A 10,000
& 88,000
Al 166,000
12 JIEtE A= 254,000 264,000 A 10,000
OIF=EMolEEALS 254,000
= 88,000
Al 166,000
ZAFUAIF (L=, 24H) HA=LH X 30,000 30,000 0
206 M = dl 30,000 30,000 0]
T Z 4l 30,000 30,000 0
OZGHANS (LS, 2H) HAZAH X
10,000& * 3,000 30,000
s DS2AEYH A 0 Hl X & A 33,000 30,000 3,000
= 15,000
Al 18,000
402 SI2vXHE0| & 33,000 30, 3,000
= 15,000
Al 18,000
02 QX E A E X (0| X THSH) 33,000 ,000 3,000
OJIs DI2AEY A & XA 33,000
& 15,000
Al 18,000
FHoToH 23 N> 11,850 11,850 0
201 £Bt24d| 2,100 2,100 0
01 AP 2t 2| H| 2,100 2,100 0
OMdll s=&=sIF &Yl 92X X
700,000 * 33| 2,100
206 M EHl 2,250 2,250
01 X Z Hl 2,250 2,250
OMdll sE&sI1 23 XA KIS
750,000& * 33| 2,250
301 et M= 7,500 7,500
12 JIEtE2 & =2 7,500 7,500
OHAIE dHEH XNEAY
1,500,000& = 10&] * 50% 7,500
MNsh 4 I 15,300 15,300
307 QI2t0| ™ 15,300 15,300
_ 4 —_




SN EAD
My B4 AMY L3
e JIEs AIEIIBE =4 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
02 QI AAIE E X 15,300 15,300 0
OMNS A AI2Hl RISALS
85,000& = 305 » 128 * 50% 15,300
st SOIHE KA 86,570 115,200 A 28,630
307 2Iz2to| A 86,570 115,200 N 28,630
02 DIZHEAAIE E X 86,570 115,200 A 28,630
Ostd S0 E KIS AFY 86,570
ASHZ FEMSAMY 5,000 0 5,000
= 5,000
307 2iztol A 5,000 0 5,000
= 5,000
02 QIZ2FA AAIE E X 5,000 0 5,000
OL2NZE FEHZSAIY
50,000 * 200%™ * 50% 5,000
= 5,000
UYHE X EHH KNSAS 4,800 7,200 N 2,400
J| 2,400
& 720
Al 1,680
307 2iz2to| A 4,800 7,200 N 2,400
J| 2,400
& 720
Al 1,680
02 QIZ2FAAAIE E X 4,800 7,200 AN 2,400
OLd g x| &l XA
40,000 * 20004 * 60% 4,800
J| 2,400
& 720
Al 1,680
ASAMAH PERINAL A 48,000 43,000 5,000
= 19,200
Al 28,800
402 It X201 & 48,000 43,000 5,000
& 19,200
Al 28,800
02 CIZEXIEAIS EX (0| XM THL) 48,000 43,000 5,000
OUEAH 2ERINSLALY
MNEFHEE 50,0008 = 1,00000 * 50% 25,000
& 10,000
Al 15,000
OUEAS 2ERINSLALY
M&HdZ& 1D 6,000,0008 = 6CH * 50% 18,000
& 7,200
Al 10,800
OUEAT D2ERINSLALS
MNEsEg=D] 1,000,0008 » 10CH = 50% 5,000

_5_




EXN: Fat
a4 B L
e JIEs AIEIIBE =4 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2,000
Al 3,000
UZAA SHAIY (3E) 40,000 40,000 0
307 2Iz2t0| A 40,000 40,000 0
02 DI AAIRE E X 40,000 40,000 0
OLd=2ad SHXHA(3R)
8,000& * 10,000kg * 50% 40,000
et BYAY XA (HAZ=2H,32) 39,000 8,400 30,600
& 11,700
Al 27,300
402 SI2vXHE0| & 39,000 8,400 30,600
o 11,700
Al 27,300
02 QIZtXIEAISE X (0| XM THLH) 39,000 8,400 30,600
OF&H BYAY XS
HAS2ZH 12,0008 * 500 * 50% 3,000
= 900
Al 2,100
OF&H BYAY XS
32 8,000& * 9,000= * 50% 36,000
= 10,800
Al 25,200
USEIAS P2AUH XA (LE) 49,500 0 49,500
o= 19,500
Al 30,000
307 212t0| & 49,500 0 49,500
=} 19,500
Al 30,000
02 DIZHB AAIE E X 49,500 0 49,500
OYZEITAIE 2L X (L) 49,500
& 19,500
Al 30,000
XNEHOIAMSE SHAS 5,250 5,225 25
402 SI2F X201 M 5,250 5,225 25
01 SIZEXIEANSEXR (M) 5,250 5,225 25
OXNgEoIMY SH(EHIAZI)
10,500,000 * 1CH * 50% 5,250
2 MALA sEA U Al XS X AFS (M LT 8,000 7,440 560
& 2,400
Al 5,600
307 212t0| & 8,000 7,440 560
& 2,400
Al 5,600
02 QIZFEAAIE E X 8,000 7,440 560




2AM: F4h
=

a4 B L
S Jts A1 24 2 e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3 Mad gah L AIXE XIS (2N
80& = 200,00000 = 50% 8,000
< 2,400
Al 5,600
o d& 1,200 2,400 A 1,200
202 O4dl 1,200 2,400 A 1,200
01 = LH 4 Hi 1,200 2,400 A 1,200
S48 S0, SEHMH =AW
600,000& = 29H 1,200
ER N 9,400 12,000 A 2,600
201 Let24dH] 5,000 9,600 A 4,600
01 At 22/l 5,000 9,600 A 4,600
OJIEt==EH| 5,000
—=Ns) DS DA
3,000& = 1005 = 32l 900
—SMAM BEES QUM 1,500& = 1,000% 1,500
—EMAY BB B0 HH
55,000& * 100K 550
~EMUH MRS HALY
70,000& * 5% « 33 1,050
~E450 DF BALY
250,000& » 2Y « 23] 1,000
202 (44l 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
OFHXNJ3HE =& Kl 600,000& » 49H 2,400
203 YR =&l 2,000 0 2,000
03 AIMF=XH R =AH| 2,000 0 2,000
OFMINA 483 2 Iisgd dHUS 92
=&l 2,000
IAEE SHFY KNSAMY 91,980 126,000 A 34,020
J| 39,420
< 15,768
Al 36,792
307 21201 A 91,980 126,000 A 34,020
J| 39,420
= 15,768
Al 36,792
02 IZtE S AHE L 91,980 126,000 A 34,020
OXAE M8 SX7e X2 91,980
J| 39,420
< 15,768
Al 36,792
ZMNEE JAFE(HE SO XA 18,000 151,340 A 133,340
= 5,400




EXN: Fat
a4 B L
e JIEs AIEIIBE =4 23 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 12,600
402 SI2FAHE0| & 18,000 151,340 A 133,340
&< 5,400
Al 12,600
02 CIZEXIEAIS B X (0| XM THL) 18,000 151,340 A 133,340
OME =t ZAlE MAaE JIH &Y X 18,000
o= 5,400
Al 12,600
AESsIH HH ZAME H XA 45,000 45,000 0
307 QI2t0| ™ 45,000 45,000 0
02 Q2B AMAIE E =X 45,000 45,000 0
OB=ESsIOt A ZAIE 2Hl KA
30,000 * 3,000& * 50% 45,000
A AISFEHINE HUl XS ALY 40,000 40,000 0
402 SI2FXHE0| & 40,000 40,000 0
01 CIZEXIE A B X (M) 40,000 40,000 0
OM MNEZHNSE ZHl XA 40,000
— &t 2l 400,000 = 20090 * 50% 40,000
NEZE SR8 4 61,600 61,600 0
= 13,320
Al 48,280
307 2iz2to| & 61,600 61,600 0
& 13,320
Al 48,280
02 QIZIAAAIE E X 61,600 61,600 0
OstRSEAY 51,600
= 10,320
Al 41,280
Ot M AA 10,000,000& = 1JH 2~ 10,000
&< 3,000
Al 7,000
S 28X 4 XNEAY 50,500 20,000 30,500
307 S12t0| & 50,500 20,000 30,500
02 QI AAIE E X 50,500 20,000 30,500
Ot 8N 84 XEAY 50,500
-8l AZLH2 N
40,000 * 1,2505% * 40% 20,000
—5te £F0IA N
300,0008 = 1505 * 50% 22,500
-t &XA2A&H XA
20,000 * 1,000 * 40% 8,000
SOFK MAA SFANAIS 15,515 10,752 4,763
& 5,172
Al 10,343




2N
X ZH -
L= B

el

&

!
o ZWe 2st
= ASII8 Z4 23

- - _ RE!
K- EH3 B (3H) - HSAY - Ba2 0 AF o e 2
307 212t01 & 15,515 10,752 4,763
= 5,172
Al 10,343
02 DIZtZ AAMEE X 15,515 10,752 4,763
OSO0tA MASY A ALY 15,515
& 5,172
Al 10,343
OF K| A4 A OFA AFS 8,000 8,000 0
301 et X = 8,000 8,000 0
12 JIEtE2 &2 8,000 8,000 0
OSO0AI M AOHAE AFS 8,000
ArsE HEAY 17,230 17,360 A 130
= 3,194
Al 14,036
307 QI2t0| ™ 17,230 17,360 A 130
= 3,194
Al 14,036
02 DIZtBAAMEE X 17,230 17,360 A 130
ORASE ALY 17,230
& 3,194
Al 14,036
Hs g8 XJAAE 30,000 30,000 0
& 9,000
Al 21,000
307 212t01 & 30,000 30,000 0
< 9,000
Al 21,000
02 DIZtZ AAMEE X 30,000 30,000 0
OYd=gH XNIFAY 30,000
& 9,000
Al 21,000
=& R Ma X 39,500 39,500 0
307 212t0| & 39,500 39,500 0
02 DI2HZAAIEE X 39,500 39,500 0
ONZE s MAXR 39,500
- EHN 20,000& * 1,0000H = 50% 10,000
—XEA "L LS M=
70,000& * 40000 * 50% 14,000
—-&Ed FFAE MEA
40,000& * 40000 * 50% 8,000
-ol&)| HAa AEYHA oY A
1,000& = 15,000kg * 50% 7,500
S MAH A2 A 30,000 30,000 0
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2N
X ZH -
L= B

el

=41
H4 2¥ L
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Os2s=0g+48
LHZE 10,000& =* 1,500 + 2/ & 3,000& * 5 16,500
005
FIle=S L2H XNJ3AS 3,000 3,200 A 200
= 1,500
< 450
Al 1,050
301 LEPEXZ 3,000 3,200 A 200
= 1,500
< 450
Al 1,050
12 JIE24 =3 3,000 3,200 A 200
RIls= A2 KNALS 150,000 * 205 3,000
= 1,500
< 450
Al 1,050
sy 7,220 6,550 670
201 Let24d] 1,420 750 670
01 At 22l 1,420 750 670
Os==XdAgs g4+
70,0008 * 6% * 13 420
OZEIZ 222 MA & 5,000& = 2000H 1,000
202 Odl 1,800 1,800 0
01 = LH 4 bl 1,800 1,800 0
Oss:Es ¥ & & QIFN 0l
600,000& = 3H 1,800
206 M= Hl 4,000 4,000 0
01 M= 4l 4,000 4,000 0
ORIIA(EMN) ZEE 72 400,000& = 1004 4,000
Ot S 43t XA 34,000 0 34,000
< 17,000
Al 17,000
301 LEEXZ 34,000 0 34,000
< 17,000
Al 17,000
12 JIE 243 34,000 0 34,000
Oltgl Sd3 XNEAEY
=321 200,000& * 305 + 21 400,000& * 7 34,000
0=
< 17,000
Al 17,000
Breis 2 sSEHE NIAMG 15,900 0 15,900
< 5,300
Al 10,600
301 LA F 15,900 0 15,900
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Al 10,600
12 JIE2 4= 15,900 0 15,900
Ottds=2 S=EHIE NEAE
30,000& = 5304 15,900
=) 5,300
Al 10,600
ASHES BedsS A =H NEAMY 18,000 0 18,000
=) 6,000
Al 12,000
301 LetE2H S 18,000 0 18,000
=) 6,000
Al 12,000
12 JIE2d = 18,000 0 18,000
ONMASHS Bteis2 dzH NFAY
180,000& * 100 18,000
=) 6,000
Al 12,000
H=8 tteis28 E3E 4 3,220 0 3,220
201 ¢et24] 3,220 0 3,220
01 AF2 22l 1,220 0 1,220
Ouns WM M= s 5,000& = 200&A 1,000
OdA 22 &= 55,000& * 40H 220
03 AHZ ZHl 2,000 0 2,000
OZAL =& ZHAHHI 2,000
== S 599,840 577,540 22,300
J| 163,460
=) 54,508
Al 381,782
ol eFR=H 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 QIZFHALAIH E = 80,000 80,000 0
Ozdl s==H 80,000
nes A 200,000 200,000 0
J| 120,000
= 24,000
Al 56,000
307 glztol & 200,000 200,000 0
J| 120,000
S 24,000
Al 56,000
02 It HAMAEE 200,000 200,000 0
OsneR JAXE 200,000
J| 120,000
& 24,000
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| Al 56,000
SHE BdHE SR 156,960 156,000 960
201 €2l 960 0 960
01 At 22/l 960 0 960
Ozl stR=HM LR S HI
8,000& = 30Y » 4« 960
202 04l 1,000 1,000 0
01 = LH 4 HI 1,000 1,000 0
OFHE BeHE 2, AHIFX X2 &S
=l 20,000& = 5% = 10& 1,000
307 21201 A 155,000 155,000 0
02 It S AIHE L 155,000 155,000 0
OstEdE =183l OlXX&
1,500,000,000& * 2% 30,000
OEdE o2 255 a3 KNS
150,000& * 5005 75,000
OFd=28 BdHE g2
50,000,000& = 204 = 50% 50,000
HACCP =&tsOt & S HE XA 6,000 3,000 3,000
< 1,800
Al 4,200
402 RI2HXt20l ™ 6,000 3,000 3,000
< 1,800
Al 4,200
02 2IZt 2 AL EZ (01X TH ) 6,000 3,000 3,000
OHACCP =&ttt & S E X&MLY
10,000,000 * 60% * 1JH A 6,000
< 1,800
Al 4,200
=42 HACCP &8 X3 ALY 5,600 0 5,600
J| 3,200
< 720
Al 1,680
307 21201 A 5,600 0 5,600
J| 3,200
< 720
Al 1,680
02 ItFAAHEX 5,600 0 5,600
O=4&= HACCP 288 XA AE
8,000,000& * 70% * 1JHA 5,600
J| 3,200
< 720
Al 1,680
Het dEXE XNFAY 15,000 0 15,000
J| 7,500
< 2,250
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EHe: SAE S22 (&t
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 5,250
402 SI2FAHE0| & 15,000 0 15,000
J| 7,500
< 2,250
Al 5,250
02 CIZEXIEAIS X (0| XM THL) 15,000 0 15,000
OHEt HEIS KRAS
25,000,0008 * 60% * 1JH A 15,000
J| 7,500
& 2,250
Al 5,250
SMNSTHE A AMAIEME XSAS 12,000 12,000 0
& 4,000
Al 8,000
402 SI2F X201 & 12,000 12,000 0
< 4,000
Al 8,000
02 CIZEXIEAIS EX (0| XM THL) 12,000 12,000 0
OFSMNESTME A AMAIENE XS AHE
20,000,000& * 60% * 1JH 2 12,000
& 4,000
Al 8,000
FAE FMH2ZA 14,760 13,460 1,300
201 Bt 12,360 11,060 1,300
01 AP 22| H| 10,300 9,000 1,300
OFMNE =HZAF L ZEHA AIZ2H]
20,000& = 100H 2,000
OAMDINZEHA =2 70,000& * 100A 7,000
OFNZEE = HZAH & 2EHA HIS 2L 300
OFAME =HZAF L AMZA 5 0=2H|
250,000 * 4H 1,000
02 2% H| 2,060 2,060 0
OJlgssa & BEEFAS HII 1,400
—QOtetAL Al 2 100,000& * 2% 200
-0l & 25Had] 2 X2 400,000 = 204 800
-HIIFE =¢ 100,000 * 2% « 23| 400
ORd A= el 330,000 * 23| 660
202 04| 2,400 2,400 0
01 2404l 2,400 2,400 0
2y =2 F4ats b L L0123 A o]
600,000 = 4H 2,400
ADI OlEF=EA 65,520 76,080 A 10,560
J| 32,760
= 9,828
Al 22,932
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J| 32,760
< 9,828
Al 22,932

02 P HAMHEE 65,520 76,080 A 10,560
OAl10J Ol8EF=HHM At 65,520
J| 32,760
= 9,828
Al 22,932

BYE F4ME ZEW XA 12,000 12,000 0
< 2,400
Al 9,600

307 glz2tol & 12,000 12,000 0
< 2,400
Al 9,600

02 HAFAAHEX 12,000 12,000 0
OoBdE s4=2 T X 12,000
< 2,400
Al 9,600

M2 255 AL 32,000 25,000 7,000
= 9,600
Al 22,400

307 21201 A 32,000 25,000 7,000
< 9,600
Al 22,400

02 IZtE S AHE L 32,000 25,000 7,000
OFdE === XNE MY 32,000
< 9,600
Al 22,400

MY ZHH 25t 189,792 230,650 A 40,858
< 129,862
Al 59,930

SN2 NBTE ADES XY 9,000 60,000 ~51,000
< 9,000

402 RI2HX=01 M 9,000 60,000 A51,000
< 9,000

02 QI EASEZ (01X ) 9,000 60,000 251,000
O=x4tE IIEB3E ADES XNFAY 9,000
= 9,000

SUZSRHY YR (EEAY) 112,500 112,500 0
< 101,250
Al 11,250

206 TH 2 HI 112,500 112,500 0
= 101,250
Al 11,250




SN EAD
My B4 AMY L3
Chol: Satel AW s (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 M= 4l 112,500 112,500 0
SMER HY ERAY 112,500
= 101,250
Al 11,250
W S3H&O0I2) M XA 60,900 54,000 6,900
< 18,270
Al 42,630
402 RIZ2HXt20l ™ 60,900 54,000 6,900
< 18,270
Al 42,630
02 RIZEXt 2 AL EZ (01X TS ) 60,900 54,000 6,900
Ouz=d 5 (I1&) A X 60,900
< 18,270
Al 42,630
OE0gel HRH XEAE 208 0 208
< 78
Al 130
307 21201 A 208 0 208
< 78
Al 130
02 It S AHE L 208 0 208
OWd ool b2 XA 208
< 78
Al 130
0ol THollSH 2= XA 3,034 0 3,034
< 1,264
Al 1,770
307 glz2tol & 3,034 0 3,034
= 1,264
Al 1,770
02 It M AHE X 3,034 0 3,034
Ooggel MollZH 285 NEAY 3,034
< 1,264
Al 1,770
SN 4,150 4,150 0
201 Let2d] 2,150 2,150 0
01 At 22l 2,150 2,150 0
OxttE LR HAl S €22 MH
3,000& = 2004 600
Oz=4hAI 2 & =00 R & 55,000& = 100H 550
OSANSA 7 et =M 1,000
202 044l 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
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O=MEE YFAHA L LAY =20 HI
20,0003 = 2H » 25¢ 1,000
O44t2 AAXEA &2 0ft]
20,0003 = 2H » 25¢ 1,000
FEYS A 2= 2,606,066 3,350,069 A 744,003
= 850,504
| 103,664
< 338,987
Al 1,312,911
s Es 243N 225,000 500,000 A 275,000
= 200,000
< 25,000
302 Ol=L Mo 2 &3 225,000 500,000 A 275,000
= 200,000
< 25,000
02 QIZHITHOH R EF B S 2= 225,000 500,000 A 275,000
OJt=ddzs 243XA 225,000
= 200,000
< 25,000
A B4ty ZaYy WEEIU(2LEX) 126,100 126,100 0
= 29,100
< 29,100
Al 67,900
301 LPEAZ 126,100 126,100 0
= 29,100
< 29,100
Al 67,900
12 JIEtE4 3 126,100 126,100 0
OA E=4detd 23y WE SFUI(LAH) 126,100
= 29,100
= 29,100
Al 67,900
A B24dety 2y MNMESHO(XMMA) 13,000 13,000 0
301 LENF 13,000 13,000 0
12JIE243 13,000 13,000 0
OA E2detd 2y WEH (LS FHII)
13,000& * 1,000 13,000
SSEHE 2F(2124d]) 34,000 46,380 A 12,380
| 17,000
< 5,100
Al 11,900
307 21201 A 34,000 46,380 A 12,380
| 17,000
< 5,100
Al 11,900
02 QAHFAAHEX 34,000 46,380 A 12,380




N L1
My B4 AMY L3
Sl HIW HH RS CERED
= _ — d =
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OSsgHg 24 (22l) K& 34,000
J| 17,000
< 5,100
Al 11,900
SSYMH 2H(29Hl) 42,000 51,000 A9,000
J| 21,000
< 6,300
Al 14,700
307 21201 A 42,000 51,000 29,000
J| 21,000
< 6,300
Al 14,700
02 HAFAASFEE 42,000 51,000 A9,000
OSsgHg 2d(24Hl) X2 42,000
J| 21,000
< 6,300
Al 14,700
SSLY oA 2| 15,594 15,594 0
301 gEEd = 15,594 15,594 0
12 JIEtE& = 15,594 15,594 0
O3sLY =AM =L S 15,594
-JIsgdsas a3 600,000& = 12& 7,200
- Ol 240,000& = 12& 2,880
-4 50,000& * 123 600
- Zu2exd 9,482& * 30AI2H = 12& 3,414
-—w=sH ¥ =F 0l 1,500
FHY WSS A= A (L) (2AEX) 75,000 90,000 A 15,000
= 37,500
< 11,250
Al 26,250
301 LEBA S 75,000 90,000 A 15,000
= 37,500
< 11,250
Al 26,250
12 JIEE43 75,000 90,000 A 15,000
OA IS HEES A=t
5,000& = 15,0005 75,000
= 37,500
< 11,250
Al 26,250
2HS S WLES AsH(HMMA) 135,000 135,000 0
301 LPEAS 135,000 135,000 0
12 JE2 4= 135,000 135,000 0
OFRME S HLEES A=t
5,000& = 27,0005 135,000
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A=SAE YL XA 64,000 64,000 0
< 12,800
Al 51,200
206 M= Hl 64,000 64,000 0
< 12,800
Al 51,200
01 =8l 64,000 64,000 0
ASERE F LU 64,000
< 12,800
Al 51,200
FasI 2SAE &X NE 30,000 34,000 24,000
< 9,000
Al 21,000
402 RIZEX20l A 30,000 34,000 24,000
< 9,000
Al 21,000
02 U2 TEALEZ(0IETHR) 30,000 34,000 A 4,000
OFdsIt ASAE 48X X2 (150)
2,000,000& = 15CH 30,000
< 9,000
Al 21,000
HRNL22LHEE NEXE ALY 24,000 24,000 0
= 12,000
< 3,600
Al 8,400
307 glz2tol & 24,000 24,000 0
= 12,000
< 3,600
Al 8,400
02 QIZtE M AHE X 24,000 24,000 0
OHXAE2d Z& XN XNAAZ
5,000,000& = 60% » 8%H 24,000
= 12,000
< 3,600
Al 8,400
A5 Y 20,000 20,000 0
206 M= Hl 20,000 20,000 0
01 =8l 20,000 20,000 0
OLsAusF A 25,000& * 8004 20,000
S2 g9as A 92,400 92,400 0
< 27,720
Al 64,680
301 LA S 92,400 92,400 0
= 27,720
Al 64,680
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= H
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Al 21,000

M
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a: S FWY L3
Sl HIW HH RS CERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 %Eﬁ Hns2
03 A2t 560 0 560
OJ=ge 25 SRAUA(LHE, 243 B
%EZZ S) SAHl 8,008 * 105] * 7% 560
202 01t 3,600 8,400 £4,800
01 =L o1 bl 3,600 8,400 4,800
OJtswel FT oIl 600,000 * 62 3,600
206 T 2 bl 84,550 85,750 A1,200
01 M2l 84,550 85,750 A1,200
Ozt goigs =& I
10,0008 * 8005 * 2% 16,000
ONEXEY 0185 &4XHE WSIW 7Y
400,008 + 122 4,800
OASLS (PR HA LY AlLOHZ2IIHX &
%) WE 2 50,000
OJ=ge IY¥8 £S4E 7
25,0000 * 5505 3,750
405 TtaHF St 2,000 0 2,000
01 AU 2EH St 2,000 0 2,000
OWASAE HHD R 2,000,008 * 1H 2,000
BYsO HYY HYAY 10,000 9,660 340
= 2,000
Al 8,000
206 T 2 bl 10,000 9,660 340
= 2,000
Al 8,000
01 2 bl 10,000 9,660 340
OBY My (LE N 10,000
< 2,000
Al 8,000
setForsIl 218 AMHCEHE N 13,000 10,000 3,000
= 4,000
Al 9,000
301 YBEHI 13,000 10,000 3,000
= 4,000
Al 9,000
2 JIEtE 43 13,000 10,000 3,000
Owelsoisdt 23 +~HTEHHIS X2 3,000
= 4,000
Al 9,000
sy DY 381,389 383,570 ~2,181
2 188,916
=) 43,755
Al 148,718
206 T 2 bl 261,389 263,570 ~2,181
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 128,916
= 25,755
Al 106,718
01 X2 H| 261,389 263,570 N2,181
O W= Al 69,269
= 28,548
= 3,939
Al 36,782
OWHXl ol &= Ab 123,484
= 57,231
& 14,270
Al 51,983
O 0l&=Al 26,600
= 13,300
= 3,990
Al 9,310
O Ol == Al 4,692
= 3,043
= 391
Al 1,258
OZd J|Ms A 35,166
= 24,616
= 3,165
Al 7,385
oxg =2 2,178
= 2,178
307 2iz2to| A 120,000 120,000 0
= 60,000
& 18,000
Al 42,000
02 QIZ2IA AAIE E X 120,000 120,000 0
OYWXIMDEI0I A BHAXAAS 120,000
= 60,000
o=t 18,000
Al 42,000
HNg=s PHY Al 199,150 197,400 1,750
= 137,405
= 18,524
Al 43,221
307 212t0| & 189, 150 197,400 A8,250
= 132,405
= 17,024
Al 39,721
02 QI2tAMAIE E X 189, 150 197,400 N8,250
Og=s MY BHA 189, 150
= 132,405
& 17,024
Al 39,721
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= Hn W
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22,758
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Oaxr2sIt 7MY

BH Al
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= M W

H

108,961
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= M W
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25,018

7,425
17,325

,000

16,

768

206 M= Hl

= M W
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25,018

7,425
17,325

,000

16,

768

01 M= dl

OFME HYEFS AELA 235HH

49,500,000& = 0.0054

Z W

W

49,768

49,500
24,750
7,425
17,325
268
268

,000

16,

768

= M

256,520

51,304
205,216

,580
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